29. y=10cos iz
(a) amplitude = 10, period = (21—73 = 4m, (b)
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phase shift =0
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3. y=-sinjz

(2) amplitude = 1, period = (21—”) =d4r,  (b)
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phase shift = 0 2t

An T n x

24+

33. y=3sin(2z — 2) = 3sin2(z — 1)
(a) amplitude = 3, period = 221 =, b) 7A
phase shift = 1

o

35. y=—cos(3z + §) = —cos -2-(1:+ :
2

(a) amplitude = 1, period = -—j- =4, (b) 7

phase shift = —1 1}
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37. From the graph we see that the amplitude is 5, the period is 7, and there is no phase shift. Therefore,
the function is y = 5sin4z.



